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sTe oara : 3.00 wenfl CoL | [ Qurés wEHLPuemser : 70
‘Time Allowed : 3.00 Hours | [Maximum Marks : 70
sfleyenrset : (1) ioass dlamssend eflure Ldleurd) 2 eTaTgm crenuFene gllumiégis
Qsmererayid. FaiLdede Gonuinlddn Siomps sermamanfiCiLmerflLLb
o | anguirgd GgMelléEsew.
2) Beob Sdwm sEGUY @wuloar LLBCL  TWgusHEGLD
Qg &ECaTg HousHEn LwauBss CauaRmIb. LILESET aaiusnE
Quendlé LwWeTLHSHELD. -
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

@Oy : uGH-1 (219f-greaugeiluem), LES-1I (219A-lendue) safissal ellosgrefld
eflenL_wefl&&Ee] .
Note :  Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer books.
@S - 1 (29f-greuredwe) / PART - I'(BIO-BOTANY)
(Hri@ueser : 35) / (Marks : 35)

19f&y - 1 / SECTION - 1

@iy : (i) Sjemensg aﬁ]mné;&@&@m efenLwefl&aey . . 8x1=8
(i) Qar@ésuul(erer LIHH deLsailed Wae D epLmLL alenLaniid
~ Caiips(esis GO GLen eloLoanb Gsrss GT(LPSELD.
Note : (i) Answer all the questions. ,

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer. '
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L Hond Cpi urdeNukisamer] uDOIL Seumren sapenms SerLHs.
() Qudsms ol sreiiuBeudldme.
() Qedvseaufed wifsaray CQuigGLrdlenardse o drerg).
() Qedvseuir @r{dsme <, G-
() Qedsaufledy UGUILTSFTESmIL BeT o drarer.
Identify the incorrect statement about the Gram Positive Bacteria.
(a) Teichoic acid absent
(b) High percentage of peptidoglycan is found in cell wall
(c) Cell wall is single layered

(d) Lipopolysaccharide is present in cell wall

2. uéo@@gu auamsUULL sreuy GrrQudriy LTSS 6 @DMESET WHmILD
Ceupmieriose SILmAW euansliLrg <

(=1) Caudlw cuensLium()

() apeéamy euamslium’_({ Siewliy wam
(@) eabirgri cuensliLIm()

(rF) erawentlued euensLiLIT(H

The taxonomy which involves the similarities and dissimilarities among the immune
system of different taxa is termed as : .

(a) Chemotaxonomy
(b) Molecular systematics
(c) Serotaxonomy

(d) Numerical taxonomy

3. @ame Ueuld @is GCrrGurGsrbad Cgry Gsrsma e GTem
B LPEHSEITLD.
(<=1) @rieLser (<) Harridlen
(@) 9fiay Haves () Aarig Gaar
The. pairing of homologous chromosomes on meiosis is known as '
(a) Bivalent (b) Synapsis
(c) Disjunction ‘ (d) Synergids
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ap&TL Hadsrarorer guearafluredld ereielms Brredls Gurég srgdlub ?
() Qeedgear brreills Cursg

(<) QoamgQae Hrreilts Gurds

(@) swlysder Hrraill Curseg

() Copsmdu SIS

What type of transpiration is possible in the xerophyte Opuntia ?

(a) Stomatal
(b) Lenticular
(c) Cuticular

(d) All the above

QUTBSSHS

(1) wmedlligerid (i) wFemswld

(2) ZI5SHISLD (i) QugHCuimeen
(3) Qusatdlwud (iii) <p&&an

(4) &oeUT (iv) enplCrreGenav

(1) (1)-(0), (2)-(), (3)-(iv), (4)-()
(<) (1)-(i), (2)-(), (3)-(iii), (4)-(iv)
(@) (1)-(v), (2)-(id), (3)-(), (4)-(i1)
(/) (1)-(v), (2)-(id), (3)-(1), (4)-(i)
Match the following.

(1) Molybdenum (i) Chlorophyll
(2) Zinc (ii) Methionine
(3) Magnesium (iii) Auxin

(4) Sulphur (iv) Nitrogenase

(a) (1)-(i), (2)-(iii), (3)-(iv), (4)-(i1)
(b)  (1)-(i), (2)-(1), (3)-(ii), (4)-(iv)
(c) (1)-(iv), (2)-(iii), (3)-(i), (4)-(i1)
(d) (1)-(iv), (2)-(ii), (3)-(i), (4)-(iii)
[ Hipiys / Turmn over
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6.

gaflaGaiians gellalaanfear sflwrar sapPlenesn semrhls.

(«@) @aflami B L@y PS 1 e dr Qgmofyeni g

(<2) PS T wppd PS 11 wpduenen NADPH+H' o mpeungeiley L@ Gupidlng

(&) PS 1-an dilevan ewwioner LFeswb ‘a’ -ufler gafl mirliy 2450 680 nm Z,GL0.
() PS I -@r elflevar enowionet Ligenswitd ‘a’-udler gefl iy 2§60 700 nm 450
Identfy the true statement regarding the light reaction of Photosynthesis.

(a) Splitting of water molecule is associated with PS I

(b}  PS 1 and PS Il involved in the formation of NADPH+H"*

(¢)  The reaction centre of PS I is chlorophyll ‘@’ with absorption peak at 680 nm

(d) The reaction centre of PS II is chlorophyll ‘a’ with absorption peak at 700 nm

Qren® ppossan os GLrCsrels NADH+H* 258 nCarmmwer LwybCurg
greurrsailed 2 Heum@ ATP epassamsaien eramaisms |

(1) 3 (<) 4 (&) 6 (F) 8

During oxidation of two molecules of cytosolic NADH+H?*, number of ATP molecules
produced in plants are :

(a) 3 (b) 4 (c) 6 (d) 8

Flen L 1pms euaTphd Le LisseumL_ (5 eueTimaillsamearsd Qaras sor&D
SETL_M(GLD.

(<21) Wlypenm (=) &s6v
(&) wrdlurdduwm () &Gar GrmQev

. is an underground stem growing horizontally with several lateral
growing tips.

(a) Musa (b) Cycas
(c) Polyalthia (d) Calotropis
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Yfley - 2 / SECTION - 2

4x2=8

GOy steneuGuienib mesE, eanmdsens@ elleniweléEseal.

Note : Answer any four questions.

9. @ESRTHET T GTENET ?

What are Lichens ?

10. 'W&Cammengalls’ updl el ifloug wrg ?

What do you infer from the term ‘Pycnoxylic’ ?

11. Q@ SHOD WLETHSS STETHET GTanDIed cranan ? T(HHGHFSTLHS SMHS.

What is Monadelphous Stamens ? Give an example.

12. saurs Caurser upM HmEoliL euamrs.

Write a note on Breathing Root.

13. eyl eUTGGEIT SHeppew Ephs GUTELEGET snepulalmhs GCoumuhissis.

Differentiate closed vascular bundle from open vascular bundle.

14. CGumegml - CUETILIMIGSEYLD.

Define Bolting.

19fay - 3 / SECTION - 3

GOy : eremeuCGugnid epem)l Aarrss@Ers@ e waldsen. elamr eram 19 -&@
sL_Lmuions edanwefl&gEa|i. 3x3=9
Note :  Answer any three questions. Q.No. 19 is compulsory.

15. §ACuwome wEheMéeh @sGomen w@refNE@drar Caumurser wreme ?

Differentiate between Racemose and Cymose Inflorescence.

16. feveri CLrflur QLiCarafwmeSern e @JGU)IILILLb.G)JGmU;bQ weflar GsHrsos
TGS

Draw the floral diagram of Clitoria ternatea and write their floral formula.

[ Q@uqé’a / Turn over
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17. Heag Qun@unier aamssallér Quutaemenrd @i s.

Name the types of Tissue system,

18, @ddlar aumpaile eflevaraimar arGaaitb QpEstHlen et 6T (LpgIs.
Write any three physiological effects of Auxin.
19

9. urseflumsaie poLAupnd @ aamsd GeniQumss wpenai efdasEs.

Explain Binary Fission in bacteria.

Yifley - 4 / SECTION - 4
GOILY : SieoeiEs dlamss@ssEn el walssayib. 2x5=10

Note : Answer all the questions.

20. (=) greuré Cledgié@b, eflwhig QedaisEh 2 drer CamumHEamerT oL euenam]
uBsES.
S6V605)
(==,) uGrrlene I -6 Ldlieer wHmD 4 UGeTT e e LHMH T(PEIS.
(a) Write the difference between plant cell and animal cell.
~ OR
(b  Write about Pachytene and Diplotene of Prophase I.

21. (&) 2-scugy® Ureuema 2 menersdlpiiE o avwraCsr Cergenan apaid
eflond; 4. '

e e e

V6V
(<z) dlyaciv s1pHdl L Plenasaflen eflardaiiudoms eripss.
(a) Explain Endosmosis by Potato Osmoscope experiment.
‘OR

(b) Give a schematic representation of Krebs Cycle.
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Lu@d - I (e uilfl-eNevrudlwsd) / PART - I (BIO-ZOOLOGY)

(HUQuansdr : 35) / (Marks : 35)

Wfley - 1 / SECTION - 1

@foy : (1) Seanss alamss@éon eflmiwalébsab.

8x1=8

(i) Qar@esuul@drer wrpy eNeLsefle) WBsab ghLmLw aleLemis
CapQa®ss @Ml BLer efen_ulenend GCsrsg) eT(pSe .

Note : (i) Answer all the questions.

1.

(11) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.

FHeLAwrelled sretliL®ib swFsT Senoli «

(=) <7 (<) Qo uss

(Q) BBSODSER@LI DT C (). swEErHm
The symmetry exhibited in Cnidarians is :

(a) Radial -, (b) Bilateral

(c) Péntamerous radial (d) Asymmetrical

WerTL(Lp&&atlen L) SemenLd :

(=1) safliured 2 ulfser .

(<) @mumred o ulfser cgggemrréb SWSHAMSD Qeena
(@) s .smemge Clamevr @@urfé) 2 _uffaer

(rr) senedl GlemiGLmss 2 uldflgar

Sexually, earthworms are :

(a) Sexes are separate

(b) Hermaphroditic but not self fertilizing

(c) Hermaphroditic and self fertilizing

(d) Parthenogenic

[ $imuys / Turn over
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3.

o Slatd 2 BE8 5

spo (A) wallg o Ldld Amp@Leamals Gural Qu@rﬁl@t—@ﬂ@”m 2 flepélsar
O_ATETE, |
asrgestd (R) @ B o U dlrdlgsed Qugnmi@Ledle EWLQUQQ@TW@J' '
(1) (A) wpmid (R) ydlwiar o), (R) eremig) (A) -ofpsran sfwman eflamébeaLd c%@m
(<24) (A) wpoib (R) e &, pame (R) eremug) (A) -edlha e sflwmrer edlemésd
Qéoee.

(@) (A) &M, yame (R) seum.
() (A) saum, Spemed (R) &l

Assertion (A) :In human Large intestine also shows the presence of villi like
small intestine.

Reason (R) : Absorption of water takes place in large intestine.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(c) (A) is true but (R) is false. '

(d) (A) is false but (R) is true.

Feunsgengsd s_(Huubsgleus)

(=1) Au@epener (=) e

(©) Amepenar ' - (7)) umeen

Breathing is controlled by : | |

(a) Cerebrum (b) Medulla Oblongata
(c) Cerebellum (d) Pons

flmbrs peamEosafie Bi e 2—@@5‘01—'@@@1&@ 2.3 anmirGomre -
(31) CamaldlevCLrensaflen
(<2,) 2LEepfCwnlLenéler II

(&) =pemg enwyfiigd apriGume
(/F) umendMCwmrena e

The hormone which helps in the reabsorption of water in kidney tubules is
(a) Cholecystokinin

(b) Angiotensin II

(c) Antidiuretic hormone

(d) Pancreozymin GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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Spss@iaipmar aflwrar @aamanwis CaibolsHdEsa.
() B@Tiay BrbL - 2 1 ClFae) 56

(<) QuEE prby - o Qadg)me

(@) e-ewriey Brby - euuilhmidiymid

(M) QWG Brby - WgIEGLILDLD

Which of the following pairings is correct ?

{a) Sensory nerve - afferent

(b) Motor nerve - afferent

(¢) Sensory nerve - ventral

{d) Motor nerve - dorsal

e Ldlenr Bleweowrar 95§ GphHlaeoamw uprofldug oT et
SiMutiu@deamg. '

(=) eEGUHSHS (<) e-Ldgwhlaner CLgamige

(8) mridlearTiiL () ammiGurenseter LU

The maintenance of constant internal environment is referred as :

(a) Regulation (b) Homeostasis

(c) Coordination (d) Hormonal control

Epaumeuameupenpll CUTBHSEIS

(1) wurbl@seaGoml (i) <Tegoen
(2)  <=hsCruiwur jeven@wenensev (ii) weGu
(3) =B3Crwr enwedliLr (iii) <&
(4) siLLrgev féflef (iv) &wbum

(<=1) (1)-(ii), (2)-(iv), (3)-(ii), (4)-(1)
(=) (1)-(iv), (2)-(ii), (3)-(1), (4)-(ii)
(&) (1)-(i), (2)-(v), (3)-(1), (4)-(iii)
() (1)-(iii), (2)-(v), (3)-(ii), (4)-(1)
Match the following,

(1) Bombyx mori (i) Arjun
(2) Antheraca assamensis (ii) Mulberry
(3) Antheraca mylitta (iii) Castor
(4) Attacus ricini (iv) Champa

(a) (1)-(i), (2)-(v), (3)-(iii), (4)-()
(b)  (1)-(iv), (2)-(iii), (3)-(i), (4)-(ii)
(c)  (1)-(ii), (2)-(iv), (3)-(1), (4)-(iil)
(d)  (1)-(iii), (2)-(iv), (3)-(ii), (4)-()

[ Hipliys / Turn over
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9fley - 2 / SECTION - 2

@Oy ;- aemauGugnib mHeviEy cSlamas@enda@ ofenwelldsaib. 4x2=8
Note : Answer any four questions.
9.

Quigpd, gan salpgaiorar @mantiygs Ha cram smsLLOENS ?

Why blood is considered as a ‘typical connective tissue’ ?

10. wanyweilar QuiavGLmlwd whmb LGrrevGLmilwgengwyd Caumliu(®sss.

Differentiate between peristomium and prostomium in earthworm.

11. fpfret uaflsmar QpALLESEIL @ren® WL apmiGLrasdT wWrae ?

Name the two main hormones involved in the regulation of the renal function.

12. plawfi erempmed ereman ? e Lanfl wing ?
What is lymph ? Write its function.

13. egrmu® sruduller <flefl upd eripss.
Comment on Acini of thyroid gland.

14. 3M&EES sOUL - UFUDI&EE6LD.
Define cross breeding.

Sifley - 3 / SECTION - 3
G@PIUY : ameuGueayd epern efamss@ns@ efe weldseayb. elerm eramr 19 -5
sLLmuwng cdlewellésen. 3x3=9
Note : Answer any three questions. Q.No. 19 is compulsory.

15. Sansafler sramriuBw smHgl eusaldr udrysmens GHG@s.
List the functions of air bladder in fishes.

16. WATL(PEEHET ‘2 pouailean BTG eTan e BiampsslILEng) ?
Why earthworms are called “friends of farmers” ?

17. useurggmsls updl AniEHluy erpsis.

Write short note on Stroke.
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18. = &elGLrélen ammiCumrer - eleuflGsayib.
Explain Oxytocin hormone.

19. Sarmwmerflar flay Qs HsQsaTar Si(psshd 10 mmHg. g ereiaurm
seSLuuB g ?

The net filtration pressure at glomerulus is 10 mmHg. How is it arrived ?

9fley - 4 / SECTION - 4
@Y @ Smesgl damssErsEn el welEsaL.

Note : Answer all the questions.

2x5=10

20. (<=1) gGs@mib pps o aray’ L wpmbd Qsfwrars Gepur@samer eleauflésab.
IETVEME }
(=) Q@ : HCLMwreller QurgieuTar LGS 6T(LHEIS.

(a) Explain any five nutritional and digestive disorders in Human.
‘ OR

(b) Write the common features of Phylum Cnidaria.

21. (&) GES LHMID b Qeoseaflen Caumuriiganer er(pdl, SeupPler ULLD UTE.
| TV
(=) L (HULpeSler (urbQ&ev Gomfl) eurpseanss sipnélenw efleufl&sayb.
(a) Write the differences between rod and cone cells and draw a neat diagram

of it.
OR

(b) Explain the life cycle of silkworm. (Bombyx mori).

-00o0-
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